Appartement 099 - 62D

1:50

11—

Badkamer
6,20 m?

—7

[ T
I

[

TTII

[TTT_TTIT

TIITT

<] 2100 >
Berging
2,04 m?
[TITTTT I

T 9
LT T T10

I 1

AWd

I T
A5

2

@ Berging
,78 m?

IS
Vam

<{1 1850

> —

o TTTTT 11T 11111

w
[T T T ;g ] ([T

Hal
11,06 m?

<7 4800 >

<1 009} >

Slaapkamer
13,61 m?

<3900 >

*KJ et

=)

pas

Slaapkamer
9,60 m2

<1 2750 >

\[ITT TTIIT TTTTT [T TT10T TP

X
Woonkamer/keuken
23,37 m?

L
Balkon \\J

5,15 m?

H\ﬁ‘

pg. 104

yar="

=

+ £

N

6e Verdieping

Oppervlakte:

Gebruiksoppervlak:
Buitenruimte:

72.28m?
5.15m?



	104 Appartement 099 - 62D

